1
Ellenőrző dolgozat

 EQ \b(3+1)\b(-2+5)+\b(2*3+1)\b(-2*2+5)+...+\b(3n+1)\b(-2n+5)=\f(n\b(-12n\s(2)+21n+63),6) 
 EQ \b(2-3)\b(1+5)+\b(2*2-3)\b(2*1+5)+...+\b(2n-3)\b(n+5)=\f(n\b(4n\s(2)+27n-67),6) 
 EQ \b(2)\b(2-4)+\b(2*2)\b(2*2-4)+...+\b(2n)\b(2n-4)=\f(n\b(8n\s(2)-12n-20),6) 
 EQ \b(-2+1)\b(1+5)+\b(-2*2+1)\b(2*1+5)+...+\b(-2n+1)\b(n+5)=\f(n\b(-4n\s(2)-33n+1),6) 
 EQ \b(-5+3)\b(-4+1)+\b(-2*5+3)\b(-2*4+)+...+\b(-5n+3)\b(-4n+1)=\f(n\b(40n\s(2)+9n-13),6) 
 EQ \b(-1-3)\b(-3+2)+\b(-2*1-3)\b(-2*3+2)+...+\b(-n-3)\b(-3n+2)=\f(n\b(6n\s(2)+30n-12),6) 
 EQ \b(4)\b(3+1)+\b(2*4)\b(2*3+)+...+\b(4n)\b(3n+1)=\f(n\b(24n\s(2)+48n+24),6) 
 EQ \b(1)\b(-1-1)+\b(2*1)\b(-2*1-)+...+\b(n)\b(-n-1)=\f(n\b(-2n\s(2)-6n-4),6) 
 EQ \b(2+3)\b(-5-4)+\b(2*2+3)\b(-2*5-4)+...+\b(2n+3)\b(-5n-4)=\f(n\b(-20n\s(2)-99n-151),6) 
 EQ \b(5+5)\b(2-3)+\b(2*5+5)\b(2*2-3)+...+\b(5n+5)\b(2n-3)=\f(n\b(20n\s(2)+15n-95),6) 
 EQ \b(3-1)\b(4-2)+\b(2*3-1)\b(2*4-2)+...+\b(3n-1)\b(4n-2)=\f(n\b(24n\s(2)+6n-6),6) 
 EQ \b(4)\b(-4+1)+\b(2*4)\b(-2*4+)+...+\b(4n)\b(-4n+1)=\f(n\b(-32n\s(2)-36n-4),6) 
 EQ \b(-2+5)\b(1-2)+\b(-2*2+5)\b(2*1-2)+...+\b(-2n+5)\b(n-2)=\f(n\b(-4n\s(2)+21n-35),6) 
 EQ \b(-4-1)\b(1+5)+\b(-2*4-1)\b(2*1+5)+...+\b(-4n-1)\b(n+5)=\f(n\b(-8n\s(2)-75n-97),6) 
 EQ \b(-5+3)\b(3+1)+\b(-2*5+3)\b(2*3+)+...+\b(-5n+3)\b(3n+1)=\f(n\b(-30n\s(2)-33n+15),6) 
 EQ \b(4+5)\b(-4-5)+\b(2*4+5)\b(-2*4-5)+...+\b(4n+5)\b(-4n-5)=\f(n\b(-32n\s(2)-168n-286),6) 
 EQ \b(-4-4)\b(-3-2)+\b(-2*4-4)\b(-2*3-2)+...+\b(-4n-4)\b(-3n-2)=\f(n\b(24n\s(2)+96n+120),6) 
 EQ \b(-5+1)\b(5)+\b(-2*5+1)\b(2*5)+...+\b(-5n+1)\b(5n)=\f(n\b(-50n\s(2)-60n-10),6) 
 EQ \b(1+1)\b(-1-1)+\b(2*1+1)\b(-2*1-)+...+\b(n+1)\b(-n-1)=\f(n\b(-2n\s(2)-9n-13),6) 
 EQ \b(-1)\b(-3+5)+\b(-1)\b(-2*3+5)+...+\b(-1)\b(-3n+5)=\f(n\b(n\s(2)+9n-21),6) 
 EQ \b(1-5)\b(-3)+\b(2*1-5)\b(-2*3)+...+\b(n-5)\b(-3n)=\f(n\b(-6n\s(2)+36n+42),6) 
 EQ \b(-5+4)\b(-5)+\b(-2*5+4)\b(-5)+...+\b(-5n+4)\b(-5)=\f(n\b(n\s(2)+75n-45),6) 
 EQ \b(-3+2)\b(-2-1)+\b(-2*3+2)\b(-2*2-)+...+\b(-3n+2)\b(-2n-1)=\f(n\b(12n\s(2)+15n-9),6) 
 EQ \b(5-1)\b(3+4)+\b(2*5-1)\b(2*3+4)+...+\b(5n-1)\b(3n+4)=\f(n\b(30n\s(2)+96n+42),6) 
 EQ \b(4-2)\b(-1+3)+\b(2*4-2)\b(-2*1+3)+...+\b(4n-2)\b(-n+3)=\f(n\b(-8n\s(2)+30n+2),6) 
 EQ \b(-5+3)\b(3-1)+\b(-2*5+3)\b(2*3-)+...+\b(-5n+3)\b(3n-1)=\f(n\b(-30n\s(2)-3n+9),6) 
 EQ \b(-3-5)\b(5+5)+\b(-2*3-5)\b(2*5+5)+...+\b(-3n-5)\b(5n+5)=\f(n\b(-30n\s(2)-165n-285),6) 
 EQ \b(-3-1)\b(-5-4)+\b(-2*3-1)\b(-2*5-4)+...+\b(-3n-1)\b(-5n-4)=\f(n\b(30n\s(2)+96n+90),6) 
 EQ \b(5)\b(2+5)+\b(2*5)\b(2*2+5)+...+\b(5n)\b(2n+5)=\f(n\b(20n\s(2)+105n+85),6) 
 EQ \b(-5)\b(3+1)+\b(-2*5)\b(2*3+)+...+\b(-5n)\b(3n+1)=\f(n\b(-30n\s(2)-60n-30),6) 
 EQ \b(1+3)\b(-2+1)+\b(2*1+3)\b(-2*2+)+...+\b(n+3)\b(-2n+1)=\f(n\b(-4n\s(2)-21n+1),6) 
 EQ \b(4-1)\b(-1-5)+\b(2*4-1)\b(-2*1-5)+...+\b(4n-1)\b(-n-5)=\f(n\b(-8n\s(2)-69n-31),6) 
 EQ \b(1+4)\b(5+3)+\b(2*1+4)\b(2*5+3)+...+\b(n+4)\b(5n+3)=\f(n\b(10n\s(2)+84n+146),6) 
 EQ \b(5+5)\b(3-5)+\b(2*5+5)\b(2*3-5)+...+\b(5n+5)\b(3n-5)=\f(n\b(30n\s(2)+15n-165),6) 
 EQ \b(-3-5)\b(2+1)+\b(-2*3-5)\b(2*2+)+...+\b(-3n-5)\b(2n+1)=\f(n\b(-12n\s(2)-57n-75),6) 
 EQ \b(-2-3)\b(-3-3)+\b(-2*2-3)\b(-2*3-3)+...+\b(-2n-3)\b(-3n-3)=\f(n\b(12n\s(2)+63n+105),6) 
 EQ \b(5-3)\b(2+2)+\b(2*5-3)\b(2*2+2)+...+\b(5n-3)\b(2n+2)=\f(n\b(20n\s(2)+42n-14),6) 
 EQ \b(3-5)\b(3-5)+\b(2*3-5)\b(2*3-5)+...+\b(3n-5)\b(3n-5)=\f(n\b(18n\s(2)-63n+69),6) 
 EQ \b(2+3)\b(4-3)+\b(2*2+3)\b(2*4-3)+...+\b(2n+3)\b(4n-3)=\f(n\b(16n\s(2)+42n-28),6) 
 EQ \b(2)\b(5-2)+\b(2*2)\b(2*5-2)+...+\b(2n)\b(5n-2)=\f(n\b(20n\s(2)+18n-2),6) 
 EQ \b(2-3)\b(-3)+\b(2*2-3)\b(-2*3)+...+\b(2n-3)\b(-3n)=\f(n\b(-12n\s(2)+9n+21),6) 
 EQ \b(-4)\b(-4-2)+\b(-2*4)\b(-2*4-2)+...+\b(-4n)\b(-4n-2)=\f(n\b(32n\s(2)+72n+40),6) 
 EQ \b(-2+5)\b(2)+\b(-2*2+5)\b(2*2)+...+\b(-2n+5)\b(2n)=\f(n\b(-8n\s(2)+18n+26),6) 
 EQ \b(-2+5)\b(-4+1)+\b(-2*2+5)\b(-2*4+)+...+\b(-2n+5)\b(-4n+1)=\f(n\b(16n\s(2)-42n-28),6) 
 EQ \b(2-1)\b(4)+\b(2*2-1)\b(4)+...+\b(2n-1)\b(4)=\f(n\b(n\s(2)+24n),6) 
 EQ \b(-3-1)\b(-3-1)+\b(-2*3-1)\b(-2*3-)+...+\b(-3n-1)\b(-3n-1)=\f(n\b(18n\s(2)+45n+33),6) 
 EQ \b(5+1)\b(3-2)+\b(2*5+1)\b(2*3-2)+...+\b(5n+1)\b(3n-2)=\f(n\b(30n\s(2)+24n-18),6) 
 EQ \b(3)\b(3-5)+\b(3)\b(2*3-5)+...+\b(3)\b(3n-5)=\f(n\b(n\s(2)+27n-63),6) 
 EQ \b(-1+2)\b(4+4)+\b(-2*1+2)\b(2*4+4)+...+\b(-n+2)\b(4n+4)=\f(n\b(-8n\s(2)n+56),6) 
 EQ \b(1)\b(-5+1)+\b(1)\b(-2*5+)+...+\b(1)\b(-5n+1)=\f(n\b(n\s(2)-15n-9),6) 
 EQ \b(3+3)\b(5-3)+\b(2*3+3)\b(2*5-3)+...+\b(3n+3)\b(5n-3)=\f(n\b(30n\s(2)+63n-21),6) 
 EQ \b(-2-3)\b(-4)+\b(-2*2-3)\b(-2*4)+...+\b(-2n-3)\b(-4n)=\f(n\b(16n\s(2)+60n+44),6) 
 EQ \b(5+1)\b(-5-1)+\b(2*5+1)\b(-2*5-)+...+\b(5n+1)\b(-5n-1)=\f(n\b(-50n\s(2)-105n-61),6) 
 EQ \b(-1-1)\b(-1+5)+\b(-2*1-1)\b(-2*1+5)+...+\b(-n-1)\b(-n+5)=\f(n\b(2n\s(2)-9n-41),6) 
 EQ \b(-5-2)\b(1+2)+\b(-2*5-2)\b(2*1+2)+...+\b(-5n-2)\b(n+2)=\f(n\b(-10n\s(2)-51n-65),6) 
 EQ \b(-4-3)\b(-5-3)+\b(-2*4-3)\b(-2*5-3)+...+\b(-4n-3)\b(-5n-3)=\f(n\b(40n\s(2)+141n+155),6) 
 EQ \b(5+1)\b(-2+1)+\b(2*5+1)\b(-2*2+)+...+\b(5n+1)\b(-2n+1)=\f(n\b(-20n\s(2)-21n+5),6) 
 EQ \b(3+1)\b(-2+1)+\b(2*3+1)\b(-2*2+)+...+\b(3n+1)\b(-2n+1)=\f(n\b(-12n\s(2)-15n+3),6) 
 EQ \b(4-5)\b(-3+2)+\b(2*4-5)\b(-2*3+2)+...+\b(4n-5)\b(-3n+2)=\f(n\b(-24n\s(2)+33n-3),6) 
 EQ \b(-5-1)\b(3-1)+\b(-2*5-1)\b(2*3-)+...+\b(-5n-1)\b(3n-1)=\f(n\b(-30n\s(2)-39n-3),6) 
 EQ \b(-4+5)\b(2)+\b(-2*4+5)\b(2*2)+...+\b(-4n+5)\b(2n)=\f(n\b(-16n\s(2)+6n+22),6) 
 EQ \b(1+2)\b(5+4)+\b(2*1+2)\b(2*5+4)+...+\b(n+2)\b(5n+4)=\f(n\b(10n\s(2)+57n+95),6) 
 EQ \b(5+1)\b(5+5)+\b(2*5+1)\b(2*5+5)+...+\b(5n+1)\b(5n+5)=\f(n\b(50n\s(2)+165n+145),6) 
 EQ \b(-4+3)\b(-5+1)+\b(-2*4+3)\b(-2*5+)+...+\b(-4n+3)\b(-5n+1)=\f(n\b(40n\s(2)+3n-19),6) 
 EQ \b(-4-3)\b(1+3)+\b(-2*4-3)\b(2*1+3)+...+\b(-4n-3)\b(n+3)=\f(n\b(-8n\s(2)-57n-103),6) 
 EQ \b(1-3)\b(5+4)+\b(2*1-3)\b(2*5+4)+...+\b(n-3)\b(5n+4)=\f(n\b(10n\s(2)-18n-100),6) 
 EQ \b(-5+2)\b(3-4)+\b(-2*5+2)\b(2*3-4)+...+\b(-5n+2)\b(3n-4)=\f(n\b(-30n\s(2)+33n+15),6) 
 EQ \b(-4-3)\b(-5+2)+\b(-2*4-3)\b(-2*5+2)+...+\b(-4n-3)\b(-5n+2)=\f(n\b(40n\s(2)+81n+5),6) 
 EQ \b(-5-4)\b(-5-4)+\b(-2*5-4)\b(-2*5-4)+...+\b(-5n-4)\b(-5n-4)=\f(n\b(50n\s(2)+195n+241),6) 
 EQ \b(5+5)\b(2-5)+\b(2*5+5)\b(2*2-5)+...+\b(5n+5)\b(2n-5)=\f(n\b(20n\s(2)-15n-185),6) 
 EQ \b(5-1)\b(5)+\b(2*5-1)\b(2*5)+...+\b(5n-1)\b(5n)=\f(n\b(50n\s(2)+60n+10),6) 
 EQ \b(3+1)\b(-3)+\b(2*3+1)\b(-2*3)+...+\b(3n+1)\b(-3n)=\f(n\b(-18n\s(2)-36n-18),6) 
 EQ \b(2+1)\b(-1+5)+\b(2*2+1)\b(-2*1+5)+...+\b(2n+1)\b(-n+5)=\f(n\b(-4n\s(2)+21n+55),6) 
 EQ \b(-5-5)\b(1+2)+\b(-2*5-5)\b(2*1+2)+...+\b(-5n-5)\b(n+2)=\f(n\b(-10n\s(2)-60n-110),6) 
 EQ \b(-5+1)\b(1+1)+\b(-2*5+1)\b(2*1+)+...+\b(-5n+1)\b(n+1)=\f(n\b(-10n\s(2)-27n-11),6) 
 EQ \b(1)\b(-5-2)+\b(2*1)\b(-2*5-2)+...+\b(n)\b(-5n-2)=\f(n\b(-10n\s(2)-21n-11),6) 
 EQ \b(-3+4)\b(3-1)+\b(-2*3+4)\b(2*3-)+...+\b(-3n+4)\b(3n-1)=\f(n\b(-18n\s(2)+18n+12),6) 
 EQ \b(4-1)\b(-2+4)+\b(2*4-1)\b(-2*2+4)+...+\b(4n-1)\b(-2n+4)=\f(n\b(-16n\s(2)+30n+22),6) 
 EQ \b(-5-1)\b(4+4)+\b(-2*5-1)\b(2*4+4)+...+\b(-5n-1)\b(4n+4)=\f(n\b(-40n\s(2)-132n-116),6) 
 EQ \b(-2+3)\b(-3-3)+\b(-2*2+3)\b(-2*3-3)+...+\b(-2n+3)\b(-3n-3)=\f(n\b(12n\s(2)+9n-57),6) 
 EQ \b(1+3)\b(-1+3)+\b(2*1+3)\b(-2*1+3)+...+\b(n+3)\b(-n+3)=\f(n\b(-2n\s(2)-3n+53),6) 
 EQ \b(-4-1)\b(4-2)+\b(-2*4-1)\b(2*4-2)+...+\b(-4n-1)\b(4n-2)=\f(n\b(-32n\s(2)-36n+8),6) 
 EQ \b(-2-2)\b(4+4)+\b(-2*2-2)\b(2*4+4)+...+\b(-2n-2)\b(4n+4)=\f(n\b(-16n\s(2)-72n-104),6) 
 EQ \b(5+3)\b(-3-1)+\b(2*5+3)\b(-2*3-)+...+\b(5n+3)\b(-3n-1)=\f(n\b(-30n\s(2)-87n-75),6) 
 EQ \b(-3-4)\b(-2)+\b(-2*3-4)\b(-2*2)+...+\b(-3n-4)\b(-2n)=\f(n\b(12n\s(2)+42n+30),6) 
 EQ \b(-1)\b(-3-3)+\b(-2*1)\b(-2*3-3)+...+\b(-n)\b(-3n-3)=\f(n\b(6n\s(2)+18n+12),6) 
 EQ \b(3+5)\b(5-1)+\b(2*3+5)\b(2*5-)+...+\b(3n+5)\b(5n-1)=\f(n\b(30n\s(2)+111n+51),6) 
